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Quihjwé wpdbp
Quithdwl
h.h. Quithywd gniguithy Shwgnp | N40.22898 | N40.22837 | N 40.22772 N 40.22868
EO 44.65351 EO 44.65253 | EO 44.65289 EO 44.65422

1 |Uynuwips dg/yg 50394 33599 49748 30544
2 [(Upjhghnd dg/yg 116937 98527 124647 87839
3 [$nudnp Ug/yg <50 <50 <50 <50
4 [oénuip dg/lyg 852 1028 1148 894
5 [Bnp Ug/yg <50 <50 <50 <50
6 [Ywjhmd Ug/yg 8984 9490 10302 7916
7 |Mwighnu dg/yg 33981 41111 22974 22059
8 [Shwnwu dg/yg 4548 4281 4227 3467
9 [Jwuwnpnd dg/yg 247 214 251 234
10 |2pnd Ug/yg 159 163 167 129
11 (Uwuguu dg/yg 796 816 795 651
12 |bplwp dg/yg 43157 39540 40902 33354
13 [Y4npwpn dg/yg <5 <5 <5 <5
14 |Lhyty dg/yg 117 106 115 83
15 [Mnphud dg/yg 52 49 54 44
16 |8hul dg/lyg 95 89 90 86
17 |Upubl dag/yg 18 14 16 13
18 [Ubjbu dg/lg <5 <5 <5 <5
19 [Mrniphnhnd ug/yg 55 49 56 42
20 |Uwpnughnid dg/yg 281 302 277 190
21 |buphnud dg/lyg 29 23 25 14
22 [3hplyntpnud dgq/lg 176 163 167 17
23 |Lhnphnu dg/lyg 12 11 10 <5
24 |Unjhpnbu dg/lyg 10 8 <5 <5
25 |Updwp dg/lig <5 <5 <5 <5
26 |Ywndhnd dg/lg <5 <5 <5 <5
27 |Uuwg dg/yg <5 <5 <5 <5
28 |owphp dg/yg <5 <5 <5 <5
29 [dnbpuwd dg/yg 7 <5 6 <5
30 |Uunhy dg/yg <5 <5 <5 <5
31 [Ywwwp ug/yg 23 2 18 15
32 |Phudnip ug/yg <5 <5 <5 29
33 [@nphnu ug/yg 1 <5 <5 <5
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